Advanced Algebra 2: Chapter 7A10 – Lesson 1 (Long Division / Zeros / Linear Factors) Homework


For problems 1 – 4 below:

Use long division to determine whether or not 
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is a zero solution.

· If so, find all zeroes of the function (real rational, real irrational, or imaginary). Use function notation to indicate the zeros.  For example 
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· If not, then explain what information the remainder provides. Use function notation.

1.  Let 
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2.  Let 
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3.  Let 
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4.  Let 
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5.  Suppose 
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 are zero solutions to the cubic equation 
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.  Write 
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in factored form.

6.  Suppose 
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 are zero solutions to the cubic equation 
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.  Write 
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in factored form.

7.  Suppose 
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 are zero solutions to the cubic equation 
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in factored form.

8.  Suppose 
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is the only unique zero solution to the cubic equation 
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.  Write 
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in factored form.

9.  The cubic polynomial 
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 has exactly three rational zeros. Find one zero by guess and check and the others by long division and factorization.

10.  The cubic polynomial 
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 has exactly three rational zeros. Find one zero by guess and check and the others by long division and factorization.

11.  The cubic polynomial 
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has one real and two imaginary zeros.  Find the real zero by guess and check and the others by long division and the quadratic formula.

12.  The quartic polynomial 
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has exactly four rational zeros.  Find one by guess and check, use long division, then guess and check again to find all others.

13.  Factor 
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_1266599848.unknown

_1266600728.unknown

_1266601725.unknown

_1266608427.unknown

_1266608426.unknown

_1266600771.unknown

_1266601022.unknown

_1266600891.unknown

_1266600758.unknown

_1266599892.unknown

_1266600272.unknown

_1266600495.unknown

_1266600120.unknown

_1266599886.unknown

_1266599665.unknown

_1266599739.unknown

_1266599789.unknown

_1266423759.unknown

_1266598890.unknown

_1266599023.unknown

_1266423519.unknown

